
Fonctions Trigonométriques et hyperboliques 
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cos(α + 2kπ) =  cosα  

sin(α + 2kπ) =  sinα  
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• k nombre relatif • cos(α+β) = cosα cosβ � sinα sinβ 

cos(α�β) = cosα cosβ + sinα sinβ 

sin(α+β) = sinα cosβ + cosα sinβ 

sin(α�β) = sinα cosβ � cosα sinβ 
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sh(�α) =  � shα     ;    ch(�α) = chα  

th(�α) =  � thα      ;    cth(�α) =  � cthα 
 

a cosα + b sinα = 22 ba +  sin (α+θ)  

22 ba

a
sin

+
=θ  ;  

22 ba

b
cos

+
=θ  

a cosα + b sinα = 22 ba +  cos (α�θ)  

22 ba

a
cos

+
=θ  ;  

22 ba

b
sin

+
=θ  

O P 

Q 
A′ 

A 

B B′ 

α 

π�α 

-α π+α 

M 

π 

π
�
 
 α 

   2 

                            α = β + 2kπ 

cosα = cosβ ⇔         V 

                            α = �β + 2kπ 

                           α = β + 2kπ 

sinα = sinβ ⇔        V 

                           α = π�β + 2kπ 

tgα =  tgβ   ⇔    α = β +  kπ 

• k nombre relatif • 

{ 

{ 

sh(α ± β) = shα chβ ± chα shβ 
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(chα ± shα)n = chnα ± shnα 

π
+
 
 α 

   2 

M
r
:ABDELMOUTALEB M

r
:ABDELMOUTALEB 

 


